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Part A
Section Id : 7806815
Section Number : 1
Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 7806815
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 780681101 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The efficiency of a generator depends on:

Options :

1. # The number of windings only

2. ¥ The mechanical speed and the magnetic field strength

3. ¥ The amount of oil used

4. % The thickness of insulation

Question Number : 1 Question Id : 780681101 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SR 1 HrieHdr frg R AR adl 82
Options :

1. % hdd gHTA! B TBT IR

2. ¢ TifAE T 3R TEDH T &F Pt Afdd W
3. % qA P AAT R

4. % TYARE DI ACTE TR

Question Number : 2 Question Id : 780681102 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the main function of the commutator in an electric motor?

Options :

1. ¥ To convert DC to AC

2. % To reverse the current direction

3. # To increase the motor speed

4. % To cool the motor

Question Number : 2 Question Id : 780681102 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fIggd Aier & LR H1 T B HRICC BT T BT 1 52

Options :

1. % DC ®I AC H dgaT

2. ¢ YRI P! fa=M DI Ide &
3. % Al DI A d@HT

4. % IR I 33T HRAT



Question Number : 3 Question Id : 780681103 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The primary safety feature of an electric lift is:

Options :

1. ¥ Emergency brakes and proper grounding

2. # Fast movement speed

3. % Aesthetic design

4. * Small size

Question Number : 3 Question Id : 780681103 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fooTet @1 feTtre &1 e ReM WeR 1 g2
Options :

1. ¢ 3TUTAHTEH b 3R Ifard TraifeT
2. % A9 Tfd

3. * Jigdyof feemza

4. % BICT 3T

Question Number : 4 Question Id : 780681104 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of lift is most common in multi-story buildings?

Options :

1. * Hydraulic lift

2. # Chain lift

3. % Pulley lift

4. ¥ Cable lift

Question Number : 4 Question Id : 780681104 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

FgHTAT TARG! & JaY 3T UHR & a0 S Al gl 82

Options :

1. % el fode
2. % I foame

3. % Yl fove

4. Had e

Question Number : 5 Question Id : 780681105 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



Electric furnances are commonly used in which industry?
Options :

1. #® Textile

2. ¥ Metallurgy

3. % Agriculture

4. % Banking

Question Number : 5 Question Id : 780681105 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faqgd Yet &1 U IuaNT ford I & grar g2

Options :

1. % T IGNT
2. ¥ YIHH SN
3. % BY IR
4. % SfHT 3TN

Question Number : 6 Question Id : 780681106 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What type of heat transfer is mainly involved in an electric furnace?

Options :

1. ¥ Conduction

2. # Convection

3. ®* Radiation

4. ¥ All of the above

Question Number : 6 Question Id : 780681106 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fagga el TRy w1 ¥ B T ST RIFTGRU S gl 82

Options :

1. ® dlclpdl

2. % Hagd

3. % fafeor
4.« JURIG I

Question Number : 7 Question Id : 780681107 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of the flux coating on welding electrodes?

Options :

1. % To insulate the electrode



2. % To protect the weld from contamination
3. % To cool the weld area

4. ® To increase the speed of welding

Question Number : 7 Question Id : 780681107 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

ST SIS TR TRIRT BT T o1 I8 82
Options :

1. % ZAHIS Dl IYIc Bl

2. ¢ dTS DI UG Y §FM

3. % dT8 &7 Bl 38T Bl

4. % fET D Afd TG

Question Number : 8 Question Id : 780681108 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The device used to control the current in electric welding is called:

Options :

1. ¥ Transformer

2. ® Generator

3. # Battery
4. % Motor

Question Number : 8 Question Id : 780681108 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

faggd afed & uRT & Ffd S & feufe s SuauT &1 IUTNT foa STt 82

Options :

1. ¢ TG
2. ® TR
3. % g

4. % AT DI 38T BT

Question Number : 9 Question Id : 780681109 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What does a continuity test in a generator primarily check for?

Options :

1. # Voltage fluctuation

2. ¥ Closed electrical circuit

3. ¥ Ground faults

4. % Current direction



Question Number : 9 Question Id : 780681109 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

SRER H A URIEf0T I 0 ¥ fhaant fRTeror &xar g2
Options :

1. % giccol H SdR-A¢Id

2. ¢ §¢ fdggd ukuy

3. % YIS TN

4. % YRT &} fa=m

Question Number : 10 Question Id : 780681110 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is checked in an insulation test for a motor?

Options :

1. #® Voltage level

2. ¥ Resistance of insulation

3. %* Frequency of current

4. % Circuit continuity

Question Number : 10 Question Id : 780681110 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TR o TR URTEf0T § o7 ST offl 87
Options :

1. % dlecel ¥R
2. ¥ AR BT UfeRIY
3. % YRT S 3l

4. % URUY I Jrdddl

Question Number : 11 Question Id : 780681111 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which instrument is commonly used to check motor insulation?

Options :

1. #* Voltmeter

2. ¥ Megger

3. # Frequency meter

4, % Ammeter

Question Number : 11 Question Id : 780681111 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



ATeR & ZGAY $I o1 d P T MHIR TR {59 Juahv 1 IudiT fosar o 82
Options :

1. % gleeHeR
2. ¢ WR

3. % g Hiex
4. % THIR

Question Number : 12 Question Id : 780681112 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What happens if the earthing system is not properly installed?

Options :

1. # The electrical system becomes more efficient

2. ¥ Equipment may malfunction or be damaged

3. ® It increases the load on the circuit

4. % Tt reduces the electrical current

Question Number : 12 Question Id : 780681112 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

afg i yomTeht e & RATUT g B STt &, <l T 51l &2

Options :

1. % faggd yumett 3iferes guTe 81 ot 8

2. ¢ JUHRU BRI 1 Ahd § 1 &I 81 9hd &

3. % Ug gihe W AIS g1l g

4. % g8 f9egd URTHI A PR AT ©

Question Number : 13 Question Id : 780681113 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the resistance value for an ideal earthing system?

Options :

1. # 1-2 ohms

2. % 3.5 ohms

3. ¥ (0 ohms

4. % 10-15 ohms

Question Number : 13 Question Id : 780681113 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T 1R 3 gumreft & forg uferkiy 7 o1 g2

Options :

1. % 12309



2. % 3.5 309
3. 03N
4. % 10-15 39

Question Number : 14 Question Id : 780681114 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of protection does a lightning arrester provide to the electrical system?

Options :

1. ¥ Overload protection

2. ¥ Surge protection

3. # Voltage stabilization

4. # Short-circuit protection

Question Number : 14 Question Id : 780681114 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

dfed Ry faggd umel &1 fhd TSR &1 YRaf UaH &Rl /2
Options :

1. % 3flaaIS YR

2. Tl GRe&fl

3. % gieel USRI

4. % 3¢ Yidhe JReq

Question Number : 15 Question Id : 780681115 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of using a circuit breaker in electrical installations?

Options :

1. # To control the current flow

2. ¥ To detect faults and break the circuit automatically

3. # To improve voltage regulation

4. ® To increase system efficiency

Question Number : 15 Question Id : 780681115 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fagya ufagml & Tfdhc IR &1 ST HA H1 I AT ]2

Options :

1. % YRTYdTE B IRT BT

2. QY B Udl TN 3R Wenferd U J uRuy &l aresr
3. % el (A0 H YR DAl

4. % TUTTCH &1 SIGHT




Question Number : 16 Question Id : 780681116 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of lightning arrrester is commonly used in power transmission lines?

Options :

1. # Rod type arrester

2. ® Horn gap arrester

3. # Valve type arrester

4. ¥ All of the above

Question Number : 16 Question Id : 780681116 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

OTeR SR Arg-l & QHmIa: S 91 afed FRigs IugnT fasar S 82
Options :

1. % IS PR BT FRIUDH

2. % g T ARy

3. % gled UBR &1 FRIYS

4.  IWIad Tt

Question Number : 17 Question Id : 780681117 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A lightning arrester works by:

Options :

1. ¥ Diverting lightning strikes to the ground

2. ® Blocking all electrical currents

3. # Storing enery

4. ¥ Generating voltage surges

Question Number : 17 Question Id : 780681117 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

afsd RIS 5 YR &1 ST 82
Options :

1. ¢ Afed & gHal &I o H I Rd axdp
2. % Ui faggd YRT DI 3{do HD

3. % Sl YUsId PP

4. % e Tol ST PP

Question Number : 18 Question Id : 780681118 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



What does the acronym "HRC" stand for in HRC fuse?
Options :

1. #® High Resistance Current

2. ¥ High Rupturing Capacity

3. % High Rated Current

4. # High Reactive Circuit

Question Number : 18 Question Id : 780681118 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

HRC WS # "HRC" &1 &1 IRT =7 g2
Options :

1. % I UlaRIY 4RI

2. 3 VR el

3. % IS YR

4. % I YldfhaRia didbe

Question Number : 19 Question Id : 780681119 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Cutouts in electrical installation are used to:

Options :

1. # Protect against short circuits

2. ¥ Interrupt the circuit during overload

3. # Stabilize voltage
4. % All of the above

Question Number : 19 Question Id : 780681119 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fIggd RATTAT & Hesn3ey &1 IUNT fhyas fa farar sirar g2
Options :

1. % ¢ Fidhe I JRaf

2. ¢ INRAIS P GRM Ffdhe BT FHIT HRAT

3. % giecol &l R HAT

4. % IRIgd gt

Question Number : 20 Question Id : 780681120 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of fuse is commonly used for low voltage circuts?

Options :

1. # HRC fuse



2. % Cartridge fuse
3. % Thermal fuse

4. % All of the above

Question Number : 20 Question Id : 780681120 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

79 dieeot Afthed & o IArad: fhy UeR &1 WSt SUTRT fara il 82

Options :

1. #* HRC WSl

2. ¢ HIfeS Wl

3. % yTid WS

4. % IR gt

Part B

Section Id : 7806816
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 7806816
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 780681121 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In which situation would a fuse blow?

Options :

1. % When the voltage is too high

2. % When the current exceeds the rated capacity

3. % When the temperature is too low

4. * When the circuit is stable

Question Number : 21 Question Id : 780681121 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

forey fRufr o wRgst e e

Options :



1. % 9 gieeol 9gd 3w 8

2. ¢ 99 YRT FYiRd e ¥ i gl
3. % 9 YA 9gd HH 8l

4. % 59 gfpe RR G

Question Number : 22 Question Id : 780681122 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Overload protection is mainly designed to:

Options :

1. # Prevent electrical fires

2. ® Ensure stable voltage supply

3. ¢ Stop excessive current flow in a circuit

4. # Stabilize the frequency

Question Number : 22 Question Id : 780681122 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3MaRdle GR&M T &Y  fraes fore fewme o) St 82
Options :

1. % faggd M1 4 §41g

2. % fRR dieeet 3Mgfd YA H

3. ¢ Gidhe U 3Afd YR UdT8 B Al
4. % 3Rl DI RR BT

Question Number : 23 Question Id : 780681123 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used for overload and short-circuit protection?

Options :

1. # Circuit breaker

2. % Fuse

3. % Both (a) and (b)

4. % None of the above

Question Number : 23 Question Id : 780681123 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

e 7 Q o a1 3iiarelie 3R afdbe gRan & forg IuahT fvar wirar 82

Options :
1. % gidhe dax

2. % T
3. ¢ (a) 3R (b) TN




4. % IWRIad H A HIs T8

Question Number : 24 Question Id : 780681124 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

IS 13218 specifies the use of circuit breakers in which of the following applications?

Options :

1. #® Domestic electrical systems

2. % Commercial elelctical installations

3. ® Industrial electrical installations
4. % All of the above

Question Number : 24 Question Id : 780681124 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

IS 13218 Wfhe SHR & TN B! fFafeRad & & fq sfae # iy Hrarg?
Options :

1. % T fagga vomferar

2. % ooy faggd TwITa

3. % 3N faggd TR

4.« Wi gt

Question Number : 25 Question Id : 780681125 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The thermal trip feature in a circuit breaker is designed to:

Options :

1. ¢ Interrupt the circuit when there is an overload

2. # Protect against lightning strikes

3. # Prevent a short circuit

4. % Prevent voltage fluctuation

Question Number : 25 Question Id : 780681125 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fthe s o yHd fou gfaer &1 35z 7 82
Options :

1. ¢ RS B TR Ffdhe Bl 5e3P HRAl
2. % RS B! A R&T UG HXAl

3. % Q¢ gfdhe T TG HIA]

4. % Giced] IAR-AGId Y ITd BRI

Question Number : 26 Question Id : 780681126 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the most suitable earthing type for residential buildings?
Options :

1. # Plate Earthing

2. ¥ Rod Earthing

3. # Pipe Earthing

4. % Strip Earthing

Question Number : 26 Question Id : 780681126 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

frafeiad & @ ford TR ot i sreaiia ya=i & foe v Iuged 82
Options :

1. % e 3

2. ¢ s 3

3. % Urgy Sffdf

4. % f&g sffdfn

Question Number : 27 Question Id : 780681127 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

A lighting sub- circuit uses 60 W lamps. If the circuit is protected by a 5 A fuse, what is the maximum
number of 60 W lamps that can be safely connected without exceeding safety regulations?

Options :
1. % 8
2.¥10
3. %13
4. % 14

Question Number : 27 Question Id : 780681127 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TS TMfeT Ta-Hfdhe H 60 W & ¥ &1 SUAIT forar ofra g | afe fdhe &1 5 A & RIel gRT QRIard fasan
T &, I GR&T Faw &1 Iected fod o siftread fardm 60 w & o 39 wfdhe § SIS off 9ahd g2

Options :
1. %8
2.¥10
3. % 13
4. % 14

Question Number : 28 Question Id : 780681128 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
Which type of insulation covering the conductor is used for low voltages?



Options :

1. ¥ Poly-vinyl Chloride(P.V.c)
2. % Paper

3. # Vulcanised Indian Rubber

4. % (Cotton and silk Insulation

Question Number : 28 Question Id : 780681128 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

H3deR P Har B d1d b YHR &b IR BT SUANT HH diecsl & ol fpar Sirar g2

Options :

1. ¢ Uicil-[aasd daRgs (d.dha)
2. % DN

3. % JehgSe g Ia)

4. % Plcd TS RichsgaH

Question Number : 29 Question Id : 780681129 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The minimum copper condutor of size is used for a sub-circuit in domestic wiring.
Options :

1. % 1/1.5mm

2. % 1/1.25mm

3. 1/1.12mm

4. % 1/1.7mm

Question Number : 29 Question Id : 780681129 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fh PR & FAdH HIR Hedex BT IUINT TR dR| H T IU-Hfhe & o fpar Srar g |

Options :

1. % 1/1.5 fore
2. % 1/1.25 ot
3. 1/1.12 foet
4, % 1/1.7 fodt

Question Number : 30 Question Id : 780681130 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What does luminous flux represent?

Options :

1. # The total amount of heat emitted by a source

2. # The total amount of sound produced by a source



3. % The total amount of light emitted by a source that is visible to the human eye
4. # The intensity of light emitted by a source

Question Number : 30 Question Id : 780681130 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T Ui T ST 82

Options :

1. % W gRT IoId $d dIHMA

2. % I gRISUA o @

3. ¢ WId gRI SN I8 Pl U Sl A g I fowars e g

4. % I GRT IAod UBTI D1 dlgd]

Question Number : 31 Question Id : 780681131 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of a test series lamp in electrical testing?

Options :

1. ® To regulate the voltage in a circuit

2. # To indicate the status of a fuse in a circuit

3. % To simulate the load and check the functioning of a circuit

4. % To measure the current flowing through a circuit

Question Number : 31 Question Id : 780681131 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fagga udierr & ¢e FRS o &1 IR 1 87

Options :

1. % gfdhe ¥ dieesl &) AT BT

2. % Hfohe U wyel o1 R & Gfad BT

3. ¢ IS BT 3B BT 3R Al &1 HRAYUTE B oiid HRAT
4. % gfche & 987 aTel YRT & ATYAT

Question Number : 32 Question Id : 780681132 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of motor is used in electric fans?

Options :

1. # Universal motor

2. % DC motor

3. ¥ Induction motor

4. % Synchronous motor



Question Number : 32 Question Id : 780681132 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Zafaed Ul H ®IF 1 Hiex SUdNT fohar ST g2
Options :

1. % gHayd dier

2. % SR AIR

3. ¢ SSRM HICR

4. % T HICR

Question Number : 33 Question Id : 780681133 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What type of motor is often found in small appliances like blenders and hair dryers?

Options :

1. % Universal motor

2. #* AC synchronous motor

3. % Induction motor

4. % Stepper motor

Question Number : 33 Question Id : 780681133 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

BIC IUHRUN ol KSR 3R 3R SRR H RN [ UHR &1 Hiex UT5 el g2
Options :

1. ¢ gHaad Al

2. % T RiwpHg e
3. % SR TR

4, ¥ TR AR

Question Number : 34 Question Id : 780681134 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the Standard color of AC supply ground wire in India?

Options :

1. # Red

2. # Pink

3. # Yellow

4. ¥ Green

Question Number : 34 Question Id : 780681134 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

YR & T TS TS S IRR BT AFD I HT 82




Options :
1. ® dld
2. % TSt
3. % Giell
4. 7 X

Question Number : 35 Question Id : 780681135 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The Acceptable value of grounding resistance to the domestic application is

Options :

1. ¥ 0.1Q

2. % 1Q

3. % 10Q

4. % 100Q

Question Number : 35 Question Id : 780681135 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

R SUANT & fer siff ufekiy &1 Wi 7 fra @
Options :

1. ¥0.1Q

2. % 1Q

3. % 10Q

4. % 100Q

Question Number : 36 Question Id : 780681136 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which wiring has to be planned and executed only during the construction of Building.

Options :

1. # CTS Wiring

2. % Casing and capping wiring

3. % Surface conduit wiring

4. ¥ Concealed wiring

Question Number : 36 Question Id : 780681136 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

9 YR &1 i Had Ha= A0 & SR A1 1 3R SIiad BT a1fgu?

Options :
1. % ey I
2. % PRI SR BT T



3. % gdg W UIsUdg araid]
4. « f5Ut g8 amafe

Question Number : 37 Question Id : 780681137 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In dielectric heating, which part of the material absorbs the energy?

Options :

1. # Surface only

2. # Inner layers only

3. % Both surface and inner layers

4. % Only the outermost layers

Question Number : 37 Question Id : 780681137 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Srdfaed g H, Irht &1 o1 1 fewan SHofl &) Saifiid i 82

Options :

1. % odd gdg

2. % Hdd AidRke WRd

3. ¢ Ag 3R 3MfdRes ST ud
4. % Hdd IIgY WRd

Question Number : 38 Question Id : 780681138 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In resistance welding, what is the role of pressure?

Options :

1. % To apply external heat

2. ¥ To hold the materials together during welding

3. #® To cool down the materials quickly

4. % To increase the electrical resistance

Question Number : 38 Question Id : 780681138 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

gfeRIY afcd™T # gara Bt YfirenT 71 gt 82
Options :

1. % S8 THf A A o forg

2. ¢ AfET & SR I B T Iy Wa & forg
3. % Ut Bl Sleal 381 B o [olT

4. % faggd UfaRiYy dgM o forg




Question Number : 39 Question Id : 780681139 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of resistance welding?

Options :

1. # Spot welding

2. # Seam welding

3. # Butt welding

4. ¥ TIG welding

Question Number : 39 Question Id : 780681139 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fFafeiad 7 9 oF ufoRly 3T &1 UeR T8l 82
Options :

1. % Wic dfeadT

2. % T afedT

3. ® gc afcgT

4. ¢ TIG AfcaT

Question Number : 40 Question Id : 780681140 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the primary advantage of resistance welding?

Options :

1. #® High speed and efficiency

2. % No need for filler material

3. ¥ Can weld dissimilar materials
4. # All of the above

Question Number : 40 Question Id : 780681140 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TfeRYY afcET BT - ATH F1 82
Options :

1. % I T SR gerar

2. % RIG YUl bl HTa=Ghdl gl

3. % 3FHM Y] B acs R IHdl §
4. « IR gt

Question Number : 41 Question Id : 780681141 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
Which of the following best describes the behavior of an inductor in a DC circuit after a long time?



Options :

1. ¥ It behaves like a short circuit
2. % It behaves like an open circuit
3. ® It has zero resistance

4. ® Tt stores elctrical energy in a magnetic field

Question Number : 41 Question Id : 780681141 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

S gfche & e 0T & §1¢ Th SSaex &I AdeR Mareiad H 3 ford TR Ja 31<8T qui Bl 82

Options :

1. ¢ T8 T< Jidhe o1 die SAIER Rl &

2. % Tg 3y gfdhc Pt IR HIGR BT &

3. % U I URRIY graT 8

4. % g faggd Sl &1 e 19 &9 § GUEHd HRaT g

Question Number : 42 Question Id : 780681142 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0.25

It the resistance of a resistor is doubled, while the voltage remains constant, what will happen to the current?
Options :

1. # The current will remain the same

2. % The current will double

3. ¥ The current will be halved

4. % The current will increase four times

Question Number : 42 Question Id : 780681142 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

gfe b UfaRIU® 1 UfaRIe QAT B (G a1 STY, Safd dlecs RR g, 1 4RI IR 31 YHTd TS

Options :

1. ¥ YRTGAH BT

2. % YRT SR g1 STt
3. ¢ YR 3¢t g1 Sraet

4. % YRT TR TH1 9 ST

Question Number : 43 Question Id : 780681143 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The power factor of a series R-L circuit at resonance is:

Options :

1. %0

2.9 ]



3. * Indeterminate
4, % 0.5

Question Number : 43 Question Id : 780681143 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

4T R-L Tfehe BT TR e IS UR T 81dT 82
Options :

1. % 0

2.¢ 1

3. % ffyiia

4. % 0.5

Question Number : 44 Question Id : 780681144 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a key factor in selecting the appropriate cable size for a specific application?
Options :

1. * Voltage

2. % Current-carrying capacity

3. # Environmental conditions

4. # All of the above

Question Number : 44 Question Id : 780681144 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@aﬁﬁﬁmw%%%ﬁmﬁwwwﬁﬁw@m

Options :

1. % qiecs

2. % YRI-dlg- &HdT

3. % gafarvitg uikiRear
4. ¢ IWRIGd JHI

Question Number : 45 Question Id : 780681145 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the maximum temperature rating of typical PVC-insulated cables?

Options :

1. # 60°c

2. % 70°

3. % 90°

4. % 120°c



Question Number : 45 Question Id : 780681145 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

g idRA-ggaics wadl o 3ifeemdd araH 3T o g2
Options :

1. % 60°C

2. % 70°C

3. % 90°C

4. % 120°C

Question Number : 46 Question Id : 780681146 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

The corss-sectional area of the conductor in a cable is typically measured in which unit?
Options :

1. # Ohms

2. % Watts

3. ¥ Millimeters squared (mm?2)

4. ® Amperes

Question Number : 46 Question Id : 780681146 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

HId H HSIeR b HIY-TIRAS &7 BT MHAR W fbg T H ATHT ST 82
Options :

1. % 3fH

2. % gIe

3. A fHeliHer (mm2)

4, % TR

Question Number : 47 Question Id : 780681147 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In overhead transmission lines, what is the primary purpose of the "earth wire
Options :

1. #® To carry the return current

2. % To protect the lines from lightning strikes

3. % To increase the efficiency of power transmission

4. # To increase the mechanical strength of the lines

Question Number : 47 Question Id : 780681147 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25



fIaRES TR ArgHl H, «3rd arR« &1 Yo I &1 /7
Options :

1. % qTOT YRT S ST

2. 1Al I faoTal! TR ¥ F==T

3. % foISTell HoRUI D1 Gafdl IgMT

4. % QT3 P} GifAD dibd dgMI

Question Number : 48 Question Id : 780681148 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of insulator is commonly used in overhead transmission lines for voltages above 33kV?
Options :

1. # Pin-type insulator

2. ¥ Suspension-type insulator

3. # Strain-type insulator
4. ¥ Disc-type insulator

Question Number : 48 Question Id : 780681148 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

33kV§rd>u<%q‘lc?:wémmmmﬁmwmwmwégaawm
Vlldl 8?2

Options :

1. % fO-218U $gIc?

2. ¥ FRTHA-CIZU TYAR

3. % RACRUSYAR

4. % {130 SYAR

Question Number : 49 Question Id : 780681149 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of using "conductor bundles" in overhead power lines?

Options :

1. ® To increase the voltage rating

2. # To reduce the sag of the lines

3. % To reduce the skin effect and increase efficiency

4. ¥ To make the line more resistant to weather conditions

Question Number : 49 Question Id : 780681149 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

AR S UTR A5+l | “Sadex d8a BT JUTNT B Bl I£T T 82
Options :




1. % gleeol AT TG

2. % WIS & T I HH HAT

3. ¢ &P UUTT B HH BT 3R T&IdT ST

4. % W1 & ATH B fRufd & ufd 3ifdes uferieh s

Question Number : 50 Question Id : 780681150 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a key design consideration of the clearance of overhead lines from the ground?
Options :

1. # The wind speed in the area

2. ¥ The voltage rating of the transmission line

3. # The number of insulators used

4. ¥ The number of towers required

Question Number : 50 Question Id : 780681150 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

ST O SfiaRes ARl & faeeny o forg g fEoms faarl & § &1 91 fagayul g2

Options :

1. % &7 T gaI &l Tfd

2. ¢ TIGIHRME W15 &I dlecsl AT
3. % JUINT fohT U SYICR] D1 JAT
4. % 3(ARGD ClaR] B G-

Part C
Section Id : 7806817
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 7806817
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 780681151 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0.25
What is the primary cause of an electric fire?



Options :

1. #® Overloaded circuits

2. % Faulty insulation

3. # Electrical equipment malfunction
4. ¥ All of the above

Question Number : 51 Question Id : 780681151 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fIGgd 3T &1 YT HRUT 1 ]2
Options :

1. % RIS S Afhe
2. % gqul SATHE
3. % fdggd IUBRUI B W]

4. ¥ IWIad Tt

Question Number : 52 Question Id : 780681152 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of fire extinguisher is recommended for electrical fires?

Options :

1. ¥ Water-based fire extinguisher

2. # Foam-based fire extinguisher

3. % Carbon dioxide (CO2) fire extinguisher

4. % Wet chemical fire extinguisher

Question Number : 52 Question Id : 780681152 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fIggd 3T & foTT B T UHR HT HIR THICFaRR SRR 82

Options :

1. % UHI-3YUTRdT BRR TaiEiatR
2. % HH-3MYUTRT BTR TeavR
3. ¢ PHIa SISIHRISS (CO2) BTIR THRIEIRR
4. % Tl T BT BTIR TRITCHITR

Question Number : 53 Question Id : 780681153 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In the event of an electrical fire, you should first:

Options :

1. # Pour water on the fire

2. ¥ (Call the fire department



3. ¥ Disconnect the power supply
4. ® Use a fire blanket

Question Number : 53 Question Id : 780681153 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

fagga om1 o1 fRUfq O, Te ugd o1 AT Mg w?

Options :

1. % 3N R UM STl
2. % BRR fSUIdHE &I Hid B
3. ¢ UIaR TS fSThde B

4. % BRR s c BT STIN] HY

Question Number : 54 Question Id : 780681154 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0.25

Overloaded circuits are a common cause of electrical fires. What can cause a circuit to become overloaded?
Options :

1. ® Too many appliances plugged into one outlet

2. # Using high-power electrical appliances on low-rated circuits

3. # Faulty or damaged wiring
4. ¥ All of the above

Question Number : 54 Question Id : 780681154 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

RAISS Tldhe faggd 3 &1 TH M HRUT & | Fidhe HaRAISS Hd 8l Thdl 87
Options :

1. % Uh Hidbe H Igd YD IUDHRT T DAl

2. % HAICS Flhe W I-Vfad aTal [aggd SUHRUT BT SUTANT &Rl
3. % YUl 7 &ffcrRd It

4. ¢ IWRIGd gt

Question Number : 55 Question Id : 780681155 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Electrical fires are often calssified as which type of fire?

Options :

1. ® Class A fire

2. % (lass B fire

3. % Class C fire

4. % Class D fire



Question Number : 55 Question Id : 780681155 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

I ST B! AR WR ¥ UHR B1 31T & =Y H aFfidpd bl SITdl 82
Options :

1. % GETT A 31T

2. % 9 B 31T

3. ¢ &N C 3T

4. % TN D 3T

Question Number : 56 Question Id : 780681156 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Preventive maintenance is done due to these.

Options :

1. ® It Increases the life of machine

2. # It reduces the break down to minimum

3. # Itincreases the efficiency of machine

4. ¥ All of the above

Question Number : 56 Question Id : 780681156 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

dR IWWG 390 & HRUT [P T1 S ]|
Options :

1. % gg AN & Sfigd I derd 8|

2. % T8 9 13 & FAdH ddb HH B odl §
3. % g TR &1 G&dT &I Jerdl §

4. ¢ JWRTG gt

Question Number : 57 Question Id : 780681157 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of a motor starter in a 3-phase induction motor?

Options :

1. # Increases the speed of the motor

2. ¥ Reduce starting current and protect the motor

3. # Improve power factor

4. % Reduce mechanical vibrations

Question Number : 57 Question Id : 780681157 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3-To] SSARM Hiex | Aex WX &1 & I3 F1 82




Options :

1. % Hiex P Td ST

2. ¢ W BT DI HH HAT 3R HIex bl JRI&T g1
3. % TR haex H YR HAT

4. % TifAH HUT Bl HH BT

Question Number : 58 Question Id : 780681158 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of starter uses reduced voltage to start a motor?

Options :

1. ¥ Direct-on-Line (DOL) Starter

2. % Star-Delta Starter

3. ¥ Auto-Tranformer Starter

4. ¥ Soft Starter

Question Number : 58 Question Id : 780681158 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

B T TR AT Bl LI B & 070 HH dlees BT STIANT BT 82

Options :

1. % SONTE-3{9-dT3 (DOL) W
2. % WR-STT WX

3. ¢ 3{fc)-CABIER WX

4. % e WX

Question Number : 59 Question Id : 780681159 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In a star-delta starter, during which phase does the motor operate at reduced voltage?

Options :

1. ¢ Star connection phase

2. % Delta connection phase

3. # Both star and delta
4. % Neither

Question Number : 59 Question Id : 780681159 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TR-S] W H, AleX HH diees IR 5T TR0 & HTH B 82

Options :
1. ¢ TR B9 I

2. % Zoel BRI TRT




3. % TR 3R ST A
4. % Pl gl

Question Number : 60 Question Id : 780681160 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of starter provides the smoothest starting for a motor?

Options :

1. # Star-Delta Starter

2. % Auto-Transformer Starter

3. ¥ Soft Starter
4. ¥ Rotor Resistance Starter

Question Number : 60 Question Id : 780681160 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

DI T TR AeR & o7 Yad WY wIfe™ UeH ol 82
Options :

1. % WR-Seel WX

2. % 3f[c-CRIBIAR WIeR

3. ¥ U WX

4. % e IR WX

Question Number : 61 Question Id : 780681161 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the typical voltage reduction in a star-delta starter during the start?

Options :

1. # 50% of the line voltage

2. ¥ 57.7% of the line voltage

3. # 75% of the line voltage

4. % 100% of the line voltage

Question Number : 61 Question Id : 780681161 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TR-See] TR H W & SR dleedl | fabat &4l It 82
Options :

1. % QA dicesl Bl 50%

2.« 13 dleedl &1 57.7%

3. % QT dleedl & 75%

4, % ST dlees BT 100%



Question Number : 62 Question Id : 780681162 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which starter is specifically designed for slip ring induction motors?

Options :

1. ¥ DOL Starter

2. # Star-Delta Starter

3. ¥ Rotor Resistance Starter

4. % Auto-Transformer Starter

Question Number : 62 Question Id : 780681162 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

DI 1 wre} faRy = ¥ &y {1 savr el & forw fewg favar mar g2
Options :

1. % DOL @I

2. % WR-SeTl WX

3. ¢ Y IR W

4. % 3fIc]-CIAHIAR WIeX

Question Number : 63 Question Id : 780681163 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the typical starting current with a DOL starter compared to full load current?

Options :

1. # 1-2 times

2. % 3-5times

3. ¥ 6-8 times

4. % 10-12 times

Question Number : 63 Question Id : 780681163 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

DOL W & WIfET de Fd A8 HIC BI ol H fohaT gIdl 82
Options :

1. % 12T

2. % 35T

3. ¥ 6-8 T

4. % 10-12 AT

Question Number : 64 Question Id : 780681164 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
What is the role of thermal overload relays in motor starters?



Options :

1. #* To provide reduced voltage during startup
2. % To protect the motor from overcurrent

3. # To increase the torque duing startup

4. # To improve power factor

Question Number : 64 Question Id : 780681164 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Hier TR # Yy d sfarars Ra s qn o /2
Options :

1. % W3 B R HY dlecsl UG Bl

2. ¢ HIeX DI SeRdBReE Y T

3. % WE3MT & GRM Tl TGH

4. % OTR Thaex H YR HAT

Question Number : 65 Question Id : 780681165 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

In a capacitor start single-phase induction motor, the capacitor is connected

Options :

1. # In series with the stator winding

2. % In parallel with the stator winding

3. ¥ In series with the auxiliary winding

4. % In parallel with the auxiliary winding

Question Number : 65 Question Id : 780681165 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

FHURICR- TR RATA-Tho SSaRH AeX H, HURICR Bl HBl SireT SIdl 82

Options :

1. % W IR & gy IR o
2. % Wex aiRfET & Iy Waa o
3. gD dIgiST o A1 ARI |
4. % g ARIST & Iy Raa o

Question Number : 66 Question Id : 780681166 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the typical unit of measurement in an energy meter?

Options :

1. # Kilowatts(kW)

2. ¥ Kilowatts-hours(kWh)



3. % Watts(W)
4. % Joules(J)

Question Number : 66 Question Id : 780681166 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

ol Hie B A= A9 B ShTe T gldt 82
Options :

1. % forcidTcd(kw)

2. « fhade-gc(kwh)
3. % glag(W)

4. % ()

Question Number : 67 Question Id : 780681167 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of meter is used to measure reactive power?

Options :

1. #® Energy meter

2. % Wattmeter

3. ¥ Var meter

4. ¥ Power factor meter

Question Number : 67 Question Id : 780681167 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

DI T Hiex ufafsharete Wi ol AT & forw IuanT far s g2
Options :

1. % ol Hiex
2. % gicHIeR
3. Var HIcx

a Q
4. % UId¥ b HICX

Question Number : 68 Question Id : 780681168 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the advantage of digital energy meters over electromechanical meters?

Options :

1. ® Higher accuracy

2. % Remote monitoring

3. ® No moving parts
4. ¥ All of the above



Question Number : 68 Question Id : 780681168 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

feforea Suif Hier F1 Saac b amd Hiek TR ol A1H 82

Options :

1. % I Gelohdl

2. % RHIe Hifefar

3. % P Io a1l e e
4. ¢ IRIad gt

Question Number : 69 Question Id : 780681169 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which meter measures instantaneous power in a circuit?

Options :

1. #® Energy meter

2. ¥ Wattmeter

3. ® Var meter

4. # Frequency meter

Question Number : 69 Question Id : 780681169 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

B g1 Hiex gfche # dicpifere wfad (Instantaneous Power) EhlfrlTCI?lT%?
Options :

1. ® ol Hlex
2. ¢ dicHIeR
3. % RAR
4. % 3l AR

Question Number : 70 Question Id : 780681170 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which meter is used to measure voltage in a circuit?

Options :

1. ¥ Voltmeter

2. ¥ Ammeter

3. % Wattmeter

4. % Energy meter

Question Number : 70 Question Id : 780681170 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

g ez o1 IuanT gfhe # aiees AU & forw far ST 82




Options :

1. ¢ dlecHIeR
2. % THIRHCY
3. % glcHIcR

4. % FHoll Hier

Question Number : 71 Question Id : 780681171 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of an integration circuit in an energy meter?

Options :

1. ¥ To measure instantaneous voltage

2. % To measure instantaneous current

3. ¥ To compute energy over time

4. ¥ To measure power factor

Question Number : 71 Question Id : 780681171 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

ol Hiex § T ST gidhe o 3520 182
Options :

1. % dIhIiid dieedl B AT

2. ® dTPHICIP B Pl G

3. ¢ gAY & 1Y ol B} UM HRA]

4. % TR thaex &) AU

Question Number : 72 Question Id : 780681172 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which device is commonly used to improve power factor?

Options :

1. # Resistor

2. ¥ Capacitor bank

3. # Inductor

4. % Transformer

Question Number : 72 Question Id : 780681172 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TTeR Thaex GURA o o1 THT=Ia: o9 91 33 IUFIT {1 Sird g2
Options :

1. % IRRR

2. ¥ HORIR dF



3. % T8dN
4. % TRAHIAR

Question Number : 73 Question Id : 780681173 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the power factor of a purely inductive or capacitive load?

Options :

1. %1

2.90

3. % -]

4. % Infinite

Question Number : 73 Question Id : 780681173 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

T[S TRUN 7 Y1 IS HT UTaR Thaex &1 g1l 82
Options :

1. %1

2.40

3. % ]

4. % 3Hd

Question Number : 74 Question Id : 780681174 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a benefit of a high power factor?

Options :

1. ®* Increased energy losses

2. % Reduced equipment lifespan

3. ¥ Lower electricity bills

4. # Increased system impedance

Question Number : 74 Question Id : 780681174 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

3 UTeR thae’ &1 a1 A1y 872
Options :

1. % ol g1 g 1

2. % JUBV] G Sa-IhTd HH BT
3. ¢ fooreht & fo@ wH g

4. % JUTTCH UfoRIY ST




Question Number : 75 Question Id : 780681175 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which fault is the most common in transformers?

Options :

1. ® Open circuit fault

2. ¥ Phase-to-phase fault

3. # Phase-to-earth fault

4. ¥ Winding insulation failure

Question Number : 75 Question Id : 780681175 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TIWIAR T G 3T Y I 1 gIdl 82
Options :

1. % 3N gfhe 3y

2. % TRULY-RUGIY

3. % RULJ-TSS Y

4.« RIS YA R

Question Number : 76 Question Id : 780681176 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the primary purpose of a circuit braker in a substation?

Options :

1. ® To increase system voltage

2. % To isolate faults and protect the system

3. ® To measure voltage and current

4. % To connect transformers to the grid

Question Number : 76 Question Id : 780681176 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TR H Hfhe S BT I 320 1 82

Options :

1. % Rcd dices dgr 1

2. QNI DI ST HRAT R ReH o1 JR&fT HRAT

3. % el 3R HRC B JTGAT

4. % TABIR & 71 I a1

Question Number : 77 Question Id : 780681177 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
What is the function of a current tranformer in a substation?



Options :
1. ¥ Step up voltage
2. ¥ Step down current for measurement and protection

3. ® Convert DC to AC

4. % Control reactive power

Question Number : 77 Question Id : 780681177 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

eI H Hee SRABIAR BT BT o1 82

Options :

1. % gleco Bl XU 39 Bl

2. TTO 3R YR&M & AT He Bl W S8 BT
3. % DC BT AC T ulkafdd &=

4. % yfafehardd e & R &=

Question Number : 78 Question Id : 780681178 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which relay is used for distance protection in substation?

Options :

1. # Differential relay

2. ® Qvercurrent relay

3. ¥ Impedance relay

4. ® Directional relay

Question Number : 78 Question Id : 780681178 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TR H g1 YREM & g @14 91 el ST faam SiTet g2

Options :

1. % fSIREd Ra
2. % 3fiaRape Nl
3. ¢ griie g R

4. % SRR R

Question Number : 79 Question Id : 780681179 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a method to detect a broken conductor in transmission lines?

Options :

1. # Distance protection

2. ¥ Pilot wire protection



3. % Phase comparison relay

4. ¥ Zero-sequence protection

Question Number : 79 Question Id : 780681179 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

I el § ¢ §U s de’ &1 UdT TTM &1 aRidhT I T ]2
Options :

1. % o3 R

2. % URIeTe aTaR GRAT

3. % RO R

4. -0 Q&M

Question Number : 80 Question Id : 780681180 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the typical range of distance relay zones for transmission lines?

Options :

1. ® One zone

2. # Two zone

3. % Three zones

4, % Five zones

Question Number : 80 Question Id : 780681180 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

crafirRM el & fore gt Ra SiF 1w S g2

Options :

1. * T oA

2. % QI

3. ¢ A §H

4. % Ui oA
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Sub-Section Number : 1
Sub-Section Id : 7806818
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 780681181 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which fault occurs due to insulation breakdown in transformers or substations?
Options :

1. # Open circuit fault

2. % Short circuit fault

3. # Overvoltage fault

4. # Ground fault

Question Number : 81 Question Id : 780681181 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

IR T WeRe R B ZYa=M ger ¥ S 91 &Y 8T 82
Options :

1. % 30U Fihe aw
2. ¢ TC Jidbe qy

3. % 3NRAICS gy
4. % qES N

Question Number : 82 Question Id : 780681182 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the main difference between a squirrel cage and a slip ring induction motor?
Options :

1. #* Number of phases

2. % Rotor construction

3. % Supply voltage

4. #* Speed control mechanism

Question Number : 82 Question Id : 780681182 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

f&pe drot SR &y 1 Ssame Hier & g iR |1 32

Options :

1. % TRON bl TR
2. ¢ A &1 0T
3. % 3MYfd diecol
4. % Tiq =0 A



Question Number : 83 Question Id : 780681183 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the function of a capacitor in a single-phase induction motor?

Options :

1. #® Improve power factor

2. ¥ Create phase difference for starting toruque

3. # Increase rotor speed

4. % Reduce heat loss

Question Number : 83 Question Id : 780681183 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

RATA-ThoT SSaRM HIex & HURIC BT BRI T 82
Options :

1. % OTeR Trdex H YR HAT

2.« I €ldh o forg TROT SfaR ST

3. % Y P A TgMT

4. % TH BT JHUH HH BRI

Question Number : 84 Question Id : 780681184 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the main advantage of a squirrel cage induction motor over a slip ring motor?

Options :

1. # Higher efficiency

2. # Easier maintenance

3. ® Speed control flexibility

4. ¥ Both A and B

Question Number : 84 Question Id : 780681184 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

P ot TSIRM Hiex FT &y 1 Aiex R 7= ard |1 g2
Options :

1. % 3 G&al

2. % 3T TIRWE

3. % Tfq fe=or & aeitaa

4.+ AR B A

Question Number : 85 Question Id : 780681185 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
Which DC motor is preferred for high starting torque applications?



Options :

1. * Shunt motor

2. ¥ Series motor

3. ¥ Compound motor

4. % Universal motor

Question Number : 85 Question Id : 780681185 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

I YRS <l SN o ot I A1 DC HieR UG favdT SiTd g2
Options :

1. % Y AR

2. ¢ ARIS AR

3. % U Hlc”

4. % gHadd A

Question Number : 86 Question Id : 780681186 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the main disadvantage of a DC motor compared to an AC motor?

Options :

1. # Low efficiency

2. % High maintenance due to brushes

3. # Low starting torque

4. # Poor speed control

Question Number : 86 Question Id : 780681186 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

AC HIeR P @1 H DC AR B Y HH! &1 82

Options :

1. % DH Q&

2. ¢ §X & HRUI I IWAT
3. % B YRS el

4, % @RS fq g0

Question Number : 87 Question Id : 780681187 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of sensor is commonly used for rotor position detection in BLDC motor?

Options :

1. ¥ Hall effect sensor

2. % Infrared sensor



3. % Capacitive sensor

4. % Ultrasonic sensor

Question Number : 87 Question Id : 780681187 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

BLDC HIex # Jex o1 fRUFT &7 a1 av & oIE {5 g UpR 6T TR SMHAR TR ST fham Srar 82
Options :

1. ¢ BId sthac W

2. % ZIPRS YW

3. % HURIfed IR

4. % 3fecNIAD AR

Question Number : 88 Question Id : 780681188 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the main disadvantage of BLDC motors?

Options :

1. #® High maintenace cost

2. ¥ Complex control system

3. # Low efficiency
4. % Limited speed range

Question Number : 88 Question Id : 780681188 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

BLDC HIcR &1 T HH! &1 72
Options :

1. % I WM NId

2. ¢ Sfed gz yorredt

3. % HhY q&ldl

4. % Iferq wifq e

Question Number : 89 Question Id : 780681189 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the power factor in an AC circuit?

Options :

1. ¥ Ratio of active power to apparent power

2. # Ratio of apparent power to reactive power

3. ® Ratio of reactive power to active power

4. % Ratio of voltage to current



Question Number : 89 Question Id : 780681189 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

AC gfdhe T UTaR hae? 1 22
Options :

1. ¢ Gfehg Wfad 3R Udhe Wfad &1 3rgurd

2. % Y fad SR ufdforarete Hfad &1 Srgara
3. * yfaforarare wfad ik aftra xifad &1 SruTd
4. % e 3R BT BT U

Question Number : 90 Question Id : 780681190 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the function of the damper windings in a synchronous machine?

Options :

1. # To reduce harmonics

2. % To improve voltage regulation

3. ¥ To prevent hunting and provide stability

4. % To increase efficency

Question Number : 90 Question Id : 780681190 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

RiprTg Az & SR fafSn o1 ol 82
Options :

1. * g B HH HIAT

2. % Jiecs FaHT H YR BT

3.« BT &I ApT 3R FRRAT USH B
4. % Q&dl dell

Question Number : 91 Question Id : 780681191 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the primary difference between a synchronous motor and an induction motor?

Options :

1. ¥ Synchronous motor requires external excitation

2. # Synchronous motor operates below synchronous speed

3. % Induction motor operates at synchronous speed

4. # Induction motor requires DC excitation

Question Number : 91 Question Id : 780681191 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

RihIT Hier 3R TSIRM HIeR & s T 3R FT 82




Options :

1. ¢ RispE e &) STedt ST &1 TaZahdl gidl &
2. % RYpITg Hier Rishlag 1fa ¥ e SH Bl §

3. % ISR Ale Rip Y M W &9 Hal 8

4. % A HICY DY DC IS P! AT Bl &

Question Number : 92 Question Id : 780681192 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the advantage of using a synchronous generator over other types of generators?

Options :

1. ¥ Constant speed operation

2. ¥ High efficiency and capability to generate at constant frequency

3. # Simple construction and design

4. # Requires no excitation system

Question Number : 92 Question Id : 780681192 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

RIS SReR BT 3 UHR P SIvex TR T T 82
Options :

1. % fRaR ifa dareq

2. I G&dT 3R FRAR SRl IR TG = B! &l
3. % IR fAAfor 3R feomga

4. % JASHT YOI BT SaIH T Tel &

Question Number : 93 Question Id : 780681193 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the principle of operation for a strain gauge?

Options :

1. ¥ Change in resistance with temperature

2. ¥ Change in resistance with strain

3. # Change in capacitance with distance

4. # Change in inductance with current

Question Number : 93 Question Id : 780681193 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

R T &1 e Rigid | g?
Options :

1. % JIHE & 91y UfeRiY o7 uikadd
2. ¢ KA & Y ARy HT uRaa—



3. % g & 1Y uTRar (HUReS) o1 alkadH

4, % YRT o 1Y R (SSde ) BT TR

Question Number : 94 Question Id : 780681194 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

Which type of transducer converts light energy into electrical energy?

Options :

1. ® Thermocouple

2. ¥ Photovoltaic cell

3. ® Strain gauge

4. ¥ Piezoelectric sensor

Question Number : 94 Question Id : 780681194 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

DI T TASIR UHTR STl Bl faggd Sl # yRafdd &ar g2
Options :

1. % yAiepyd

2. ¢ BIeIdifeed Id

3. % WA

4. % UEoligdfacd YR

Question Number : 95 Question Id : 780681195 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What does an LVDT measure?

Options :

1. % Pressure

2. ¥ Displacement

3. #® Velocity

4. ¥ None of the above

Question Number : 95 Question Id : 780681195 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

LVDT &1 H1YdT 82
Options :

1. ® qdid

2.« AU

3. % T

4. % TR Y DIg Tal



Question Number : 96 Question Id : 780681196 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the shape of the scale in PMMC instruments?

Options :

1. ¥ Linear

2. # Non-linear

3. % Exponential

4. % Logarithmic

Question Number : 96 Question Id : 780681196 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

PMMC IUHRU H Thd BT 3THR BT aldl 32
Options :

1. ¢ QH
2. % RIW®
3. % 9rdig
4. % YD

Question Number : 97 Question Id : 780681197 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What type of currents can be measured using MI instruments?

Options :

1. # Alternating Current only

2. # Direct current only

3. % Both AC and DC

4. * None of the above

Question Number : 97 Question Id : 780681197 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

MI SUBRU fhg YbR bt YRTT AT bd g2
Options :

1. % Had AC
2. % H»Fd DC
3. ¢ AC 3R DC gl
4. % ZTH Y PIS T8I

Question Number : 98 Question Id : 780681198 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25
Which of the following connections is most commonly used in three-phase transformers?



Options :

1. # Star-Star

2. # Delta-Delta

3. % Star-Delta

4. ¥ All of the above

Question Number : 98 Question Id : 780681198 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

-1 TR H o QH: S 1 SR SUTNT {6l SITdl g2
Options :

l. # L¥R-IEXR

2. % SeTl-Secl

3. % WR-S

4.« W gt

Question Number : 99 Question Id : 780681199 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the typical phase difference between the primary and secondary windings in a Star-Delta connected
transformer?

Options :
1. % 0°

2.9 30°
3. % 90°
4. % 180°

Question Number : 99 Question Id : 780681199 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

TR-SeT] HaRM T TIZHR 3R Ybh <) arsfen & offa I thol 3R a1 82
Options :

1. % (o

2.9 30°

3. % 90°

4. % 180°

Question Number : 100 Question Id : 780681200 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

What is the primary function of an inverter?

Options :

1. # Convert AC to DC

2. % Covert DC to AC



3. # Increase the frequency of AC
4. # Step up the voltage of DC

Question Number : 100 Question Id : 780681200 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0.25

S-aCR BT YYD BRI -1 82

Options :

1. % DC P AC H g
2. ¢ DCHI AC H dgaa-l
3. % AC I 3 dgMT
4. ¥ DC BT dlees g



